
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Year 6 Arithmetic 

Test 1 

Name : ____________________ 

Score : _________ out of 40 



 

 

 

  

 

4 x 6 = 

596 x 7 = 

3500020 = 3000000 + 500000 + ________ 



 

 

 

1034 + 2076 = 

6800 ÷ 2 = 

5

4

1010 x 10 = 



 

 

 

 

 

2177 ÷ 7 = 

1

3
 - 

1

6
= 

6155 + 501 + 649 = 



 

 

 

360 ÷ 4 = 

6.48 + 8.6 = 

10 + ____ = 302 



 

 

 

1

3
 + 

2

5
= 

 

0 x 989 = 

7306 - 1847 = 



 

 

 

 

 

 

6 x 10 x 11 = 

500,000 - 5,000 = 

1

3
 x 

1

4
= 

 

 



 

 

 

3.256 x 3 = 

8 - 5.123 = 

607 x 83 = 



 

22 = 

20 x 7 = 

3
1

2
 - 2

2

3
 = 



 

13 - 
2

3
= 

6 + 4 ÷ 2 = 

212 ÷ 10 = 



 

30

5 x 
1

9
 = 

1

8
 ÷  2 = 

30 x 0.5 = 



 

 
7

10
 x 30= 

4078 x 67 = 

672 ÷ 21 = 



832 ÷ 13 = 

15% of 3200 = 

1247 x 89 = 


